. VCE & PDF https://www.pass4itsure.com/c_tadm51_74.html
g 2024 Latest passditsure C_TADM51_74 PDF and VCE dumps Download

PassditSure.com

C_TADMS51 74%%As

SAP Certified Technology Associate - System Administration (Oracle
DB) with SAP NetWeaver 7.4

Pass SAP C_TADM51 74 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4ditsure.com/c_tadm51_74.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

Latest C_TADM51_74 Dumps | C_TADM51_74 PDF Dumps | C_TADM51_74 Practice Test 1/3


https://www.pass4itsure.com/c_tadm51_74.html
https://www.pass4itsure.com/c_tadm51_74.html
https://www.pass4itsure.com/c_tadm51_74.html

VCE & PDF https://www.pass4itsure.com/c_tadm51_74.html
a 2024 Latest passditsure C_TADM51_74 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

An SAP system\\'s Oracle database has four online redo logs, also known as database transaction logs. Each online
redo log has a mirrored copy. What is the effect of a log file switch?

A. The database switches between writing to the original redo log files and the mirrored redo log files.
B. The database alternates between writing to the online and offline redo log files.

C. The current online redo log is closed and the next online redo log becomes open for writing. The ARCH process is
triggered to begin backing up the recently closed redo log.

D. The current online redo log is copied to its mirrored copy, then the next online redo log becomes open for writing.

Correct Answer: C

QUESTION 2

You are running a system landscape of AS ABAP-based SAP systems. Which options do you have for selecting
transport requests to be imported? There are 3 correct answers to this question.

A. You can select a single transport request for import.

B. You can filter transport requests for a certain project and import them together in one step (if you have activated the
CTS functions in transaction SPRO_ADMIN [Customizing: Project Administration]).

C. You can select several individual transport requests to be imported in one step.
D. You can select a single transport request and import it into multiple SAP systems in one step.
E. You can select all transport requests for import that contain objects of a selected package.

Correct Answer: ABC

QUESTION 3

You want to establish the connection between the user management of an AS ABAPbased SAP system and a Directory
Server via LDAP. Which of the following configuration steps do you have to perform in the SAP system? There are 3
correct answers to this question.

A. In transaction LDAP (Directory Service Connection), maintain host name, port number, and product name of the
Directory Server.

B. In transaction LDAP (Directory Service Connection), provide logon credentials (user and password) in the SAP
system which are then used to log on to the Directory Server.

C. In transaction SM59 (Configuration of RFC Connections), create an RFC connection of type "T" from the SAP system
to the LDAP connector.

D. In transaction SICF (Maintain Services), activate the ICF service used for the communication between the SAP
system and the Directory Server.
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E. In transaction SUO1 (User Maintenance), create an SAP user (type "system") that is used by the Directory Server to
connect to the SAP system.

Correct Answer: ABC

QUESTION 4

RAC overcomes the limitations of traditional failover solutions by providing... There are 2 correct answers to this
question.

A. Fast recovery

B. Load balancing

C. Concurrent processing

D. Fast and reliable detection of a node or network failure

Correct Answer: AC

QUESTION 5

Which of the following statements regarding the communication between a SAP system and an external Message
Transfer Agent (MTA) using SMTP are correct? There are 2 correct answers to this question.

A. To send e-mails to an MTA, or to receive emails from an MTA using SMTP, the SAP NetWeaver AS ABAP must
have the ST-MAIL plugin, which needs to be installed using transaction SAINT.

B. The SAP NetWeaver AS ABAP provides the full functionality of a Message Transfer Agent (MTA).
C. The SAP NetWeaver AS ABAP can send mails to only one specific MTA per SAP client.
D. The SAP NetWeaver AS ABAP cannot automatically forward incoming mails to other domains.

Correct Answer: CD
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